



FROM	FOR	QUOTE NUMBER
Bruce Mitchell Resilient Intelligent Networks 2126 Hamilton Road Suite 400 Argyle, TX 76226 www.resilientIQ.com	Celina Independent School District TO Zach Allen EMAIL zachary.allen@celinaisd.com PHONE (469) 742-9100	2127
		DATE
		January 9, 2026
		EXPIRY DATE
		February 8, 2026 at 5:00 PM

Form 470 Application Number: 260005646 - Celina Y29 - WILLARD

Resilient SPIN: 143031788

Resilient has been an e-rate service provider since 2006, with 100s of successful projects with Texas/Oklahoma/Arkansas K12, charter schools, and religious school organizations. Resilient specializes in wired and wireless infrastructure and security projects.

State of Texas DIR - Juniper Networks

State of Texas DIR Contract # DIR CPO 5387

C1 PROJECT B – WILLARD CAMPUS

EX4400-24X Juniper EX4400 24-Port 10GBase-X Ethernet Switch with 2x100GbE Uplink 24x10GbaseX switch with 2x100G uplink ports. MACsec AES256. Airflow out of PSU. Optional module-4x10G or 4x25G	5,427.56 x 1 5,427.56
JPSU-550-C-AC-AFO Juniper 550W FB AC Power Supply 550W compact AC AFO power supply for EX4400 switches	192.81 x 1 192.81
CBL-EX-PWR-C13-US Power Cable for QFX5120 Switch Power Cable, US	14.04 x 1 14.04
QSFP-100G-LR4-C Juniper - 100G-LR4, SMF 10km QSFP28 Transceiver QSFP28, 100GBASE-LR4, SMF 10 km, Standard Temperature (0 through 70 °C), Duplex LC connector	483.71 x 2 967.42

SFPP-10G-LR-C SingleMode 10G-LR, SMF 10km SFP+ Transceiver	35.76 x 10 357.60
SFP+, 10G-LR, SMF 10km, Extended Temperature (0 through 85 C), Duplex LC/PC receptacle	
RIQ PS Resilient Professional Services	450.00 x 1 450.00
Implementation and Installation of the above BOM. Includes the physical mounting, design, configuration, installation, implementation and knowledge transfer for the Access Points and Switch Control Software. Includes Documentation.	
Subtotal	7,409.43

IC PROJECT B – WILLARD - V2

SFPP-10G-LR-C Juniper - SingleMode 10G-LR, SMF 10km SFP+ Transceiver	35.76 x 10 357.60
SFP+, 10G-LR, SMF 10km, Extended Temperature (0 through 85 C), Duplex LC/PC receptacle	
EX4400-EM-4S Juniper Networks - expansion module - Gigabit Ethernet / 10 Gigabit SFP+ x4	619.54 x 11 6,814.94
4x10G SFP+ extension module for EX4400 series of switches - 1 per IDF	
1007-LTDOME Oberon - Right-Angle Wi-Fi Access Point Wall Bracket	381.71 x 20 7,634.20
Right-Angle Wi-Fi Access Point Wall Bracket Frosted Polycarbonate Dome	
APOUTBR-ART2 Articulating Mount assembly for AP64	28.08 x 12 336.96
Articulating Mount assembly for AP64 family	
JNP-100GDAC- 3M Juniper QSFP 100GE DAC Cable 3-meter	88.91 x 26 2,311.66
QSFP28, 100GE Direct Attach Copper Cable, 3 meters, Standard Temperature (0 through 70 °C), 0.015W, 26 AWG	
EX4400-48MP Juniper Networks - EX4400-48MP - 48 Port MultiGigabit Switch	3,738.91 x 30 112,167.30
12 x 100M/1.2.5/5/10GbE GbE and 36 x 100M/1.2.5GbE PoE access ports with 2 x 100G uplink/stacking ports. Up to 90 W per PoE port with an overall total of 2200 W of PoE power budget (using two power supplies). Up to 10 EX4400 switches can be interconnected as a Virtual Chassis using two dedicated 100GbE rear-panel ports. MACsec AES256. Optional extension module: 4x10G or 4x25G Includes: 1x 1600W AC FB Power Supply.	

SUB-EX48-2S-5YC0R Juniper Wired Assurance and Virtual Network Assistant (VNA) Subscription - 5 Year	903.36 x 30 27,100.80
5-Year Wired Assurance and Virtual Network Assistant (VNA) Subscription for EX48 port switches, including JTAC Support; Juniper CareCore Support for EX4400 48-port devices.	
EX4400-24MP Juniper Networks - EX4400-24MP - 48 Port MultiGigabit Switch	3,450.28 x 3 10,350.84
24 x 100M/1/2.5GbE PoE access ports with 2 x 100G uplink/stacking ports. Up to 90 W per PoE port with an overall total 1800W of PoE power budget (using two power supplies). Up to 10 EX4400 switches can be interconnected as a Virtual Chassis using two dedicated 100GbE rear-panel ports. MACsec AES256. Optional extension module: 4x10G or 4x25G	
S-EX-S-C2-5M2-C-E Juniper Networks: 5 Year Erate bundle, SW EX Standard, Class 2	632.94 x 3 1,898.82
Erate bundle, SW EX Standard, Class 2 (24 ports). Includes Wired Assurance and VNA subscription for EX24 Port Switches with SVC CORE support, 5 YEAR	
JPSU-1600-C-ACAF0 Juniper 1600W FB AC Power Supply	431.47 x 30 12,944.10
1600W Compact AC AFO power supply for EX4400 switches	
CBL-PWR-C15M-HITEMP-US Juniper Networks: Power Cord, AC, NEMA N5-15	22.46 x 30 673.80
Power Cord, AC, US/Canada, C15M, 13A/125V, 2.5m, Straight Nema N5-15 to straight high temp C15M	
JPSU-1050-C-AC-AFO Juniper Networks - 1050W Power Supply for EX4400 Switches	335.99 x 3 1,007.97
1050W Compact AC AFO power supply for EX4400 switches	
CBL-PWR-C15M-HITEMP-US Juniper Networks: Power Cord, AC, Nema N5-15	22.46 x 3 67.38
Power Cord, AC, US/Canada, C15M, 13A/125V, 2.5m, Straight Nema N5-15 to straight high temp C15M	
SMART1500RM2ULN Eaton - 1500VA UPS SMART LITHIUM ION LIFEPO4 2U	2,386.41 x 10 23,864.10
SmartPro 1500VA 1440W 120V Line-Interactive Sine Wave UPS - 8 Outlets, Preinstalled WEBCARDLXE Network Interface, 2U Rack/Tower, LiFePO4 battery backup lasts longer and weighs less than an equivalent lead acid battery, Automatic voltage regulation corrects abnormal voltage conditions without using the battery.	
SMART2200RM2ULN Eaton - 2200VA UPS SMART LITHIUM ION LIFEPO4 2U	3,001.49 x 1 3,001.49
SmartPro 2200VA 1920W 120V Line-Interactive Sine Wave UPS - 8 Outlets, Preinstalled WEBCARDLXE Network Interface, 2U Rack/Tower, LiFePO4 battery backup lasts longer and weighs less than an equivalent lead acid battery, Automatic voltage regulation corrects abnormal voltage conditions without using the battery.	

B-AP47-2S-5Y-E Juniper/Mist - AP47 - WiFi 7 MultiGig (E-Rate Bundle)	1,184.10 x 136 161,037.60
AP47 eRate bundle Premium Performance MultiGigabit Wi-Fi 7 802.11be Access Point (AP47) with Adaptive BLE Array includes two 5-year Cloud Subscriptions and a universal mounting bracket US Only Contains WIFI Assurance Subscription and Virtual Network Assistant Subscription	
B-AP64-2S-5Y-E Juniper/Mist - AP64 Outdoor Access Point (E-Rate Bundle)	1,024.53 x 12 12,294.36
AP64 eRate bundle High Performance Outdoor MultiGigabit Wi-Fi 802.11ax (AP64), with BLE includes two 5-year Cloud Subscriptions and an Outdoor Mounting Kit, US Only. Contains WIFI Assurance Subscription and Virtual Network Assistant Subscription.	

BMIC PROJECT D – WILLARD C1 - SWITCH

S-EX-A-C2-5-COR Juniper Care Core Support - 5 Year	835.29 x 1 835.29
SW, EX, Advanced, Class 2 (24 ports), includes Wired Assurance and VNA subscription for EX24 Port Switches with SVC CORE support, 5YEAR	
Subtotal	835.29

Total **\$429,943.94**

SUB-MAN - Eligible

INCLUDED: WIFI Assurance Subscription for one access point: Includes software updates, upgrades, cloud (wi-fi) function Subscriptions, network insights, and alimited lifetime warranty on indoor access points.

SUB-VNA - Ineligible

INCLUDED: Virtual Network Assistant Subscription for wireless operations. Includes software updates, upgrades, and enhancements on the VNA service. Requires a WIFI Assurance Subscription to be enabled on the access point.